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SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
=2 5,753,590 5,398,521 355,069
= 406,990 405,190 1,800
Xl 595,000 595,000 0
< 341,737 263,737 78,000
= 4,409,863 4,134,594 275,269
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= 406,990 405,190 1,800
Xl 595,000 595,000 0
< 341,737 263,737 78,000
= 4,334,050 4,068,750 265,300
AERSHM JI=Eg 304,037 268,037 36,000
= 100,000 100,000 0
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= 22% 2ElUsAt 22 e 30,000 10,000 20,000
207 RO 30,000 10,000 20,000
03 Al & 224l 30,000 10,000 20,000
o = 22& RBlsAt HE A4S 2
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207 O] 6,000 0 6,000
03 A&l & 24l 6,000 0 6,000
o EEZAN BE 83X =4
100,000& * 60& 6,000 0 6,000
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Xl 270,000 270,000 0
=) 65,000 65,000 0
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=0t ¥l € =4 10,000 0 10,000
201 €24l 2,000 0 2,000
01 AF2 22l 2,000 0 2,000
o I dHSHE WS WA
400,000& = 53 2,000 0 2,000
206 M= Hl 4,000 0 4,000
01 M= 4l 4,000 0 4,000
o It s MHE2Y
100,000& = 40MIE 4,000 0 4,000
301 LA F 4,000 0 4,000
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o DA MAS IE AIZXR
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(= 93,000 15,000 78,000
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=& HEAYI LAY 78,000 0 78,000
(= 78,000 0 78,000
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(= 78,000 0 78,000
02 QIZtAAAY B X 78,000 0 78,000
o SZ& FEAAMYAI SAAL(KMALYA)
25,000,000 * 2JHA * 80% 40,000 0 40,000
(= 40,000 0 40,000
o SZ&E FUEANYI} LHAA(T FIHE2)
23,750,000 * 2JHA * 80% 38,000 0 38,000
(= 38,000 0 38,000
HEsgol Y G - 2AALEAY 3,600 0 3,600
2 1,800 0 1,800
2 1,800 0 1,800
201 LBt 1,780 0 1,780
2 890 0 890
= 890 0 890
01 AR 22| H| 1,780 0 1,780
o HUESHOl AME D ME
17,8008 * 2& * 508 1,780 0 1,780
2 890 0 890
2 890 0 890
202 O4H| 320 0 320
2 160 0 160
= 160 0 160
01 204l 320 0 320
o FEsYol AMLE XS Ol
20,0008 * 8% * 23] 320 0 320
2 160 0 160
2 160 0 160
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